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QUESTION 1

Which statement is correct about access ports? 

A. Access ports must have an IRB assigned to accept untagged traffic. 

B. By default, access ports accept only VLAN tagged traffic. 

C. Access ports must have an IRB assigned to accept VLAN tagged traffic. 

D. By default, an access port can have only a single VLAN assigned. 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 

You are trying to form an IS-IS adjacency between Router A and Router B, but the IS-IS adjacency will not form
between the two routers. 

Referring to the exhibit, which action would solve this problem? 

A. Enable level 1 IS-IS routing on Router A. 
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B. Enable IS-IS wide metrics on Router A. 

C. Enable level 2 IS-IS routing on Router B. 

D. Enable IS-IS wide metrics on Router B. 

Correct Answer: C 

 

QUESTION 3

Which two statements about Layer 2 loop prevention protocols are correct? (Choose two.) 

A. RSTP distributes the current tree topology using the root bridge. 

B. STP can take 30 to 50 seconds to respond to a topology change. 

C. RSTP can take 30 to 50 seconds to respond to a topology change. 

D. STP distributes the current tree topology using the root bridge. 

Correct Answer: AB 

 

QUESTION 4

You are running a Virtual Chassis with nonstop routing enabled. You want to confirm that the BGP routing table
synchronization has completed on the backup Routing Engine. 

Which command will show you this information? 

A. show task replication 

B. show bgp summary 

C. show bgp neighbor 

D. show bgp replication 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, which router will be selected as the DR? 

A. R1 

B. R5 

C. R4 

D. R3 

Correct Answer: D 
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